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Cuadro 17 (continuación 3)/Table 17 (continued 3)
Paraguay: tablas abreviadas de mortalidada

Paraguay: abridged life tables 
a

1980

Edad/Age  
(x) n m(x,n) q(x,n) l(x) d(x,n) L(x,n) P(x,x+5) T(x) e(x)

Hombres/Males
0 1 0.058 0.056  100 000  5 585  95 512 0.937 b 6 467 270 64.7
1 4 0.005 0.020  94 415  1 874  372 887 0.985 c 6 371 758 67.5
5 5 0.001 0.006  92 541   570  461 278 0.995 5 998 872 64.8

10 5 0.001 0.004  91 971   408  458 832 0.994 5 537 594 60.2
15 5 0.002 0.008  91 562   746  455 947 0.990 5 078 761 55.5
20 5 0.002 0.011  90 817  1 016  451 542 0.988 4 622 814 50.9
25 5 0.002 0.012  89 800  1 101  446 249 0.988 4 171 272 46.5
30 5 0.003 0.013  88 700  1 118  440 704 0.986 3 725 023 42.0
35 5 0.003 0.015  87 582  1 331  434 583 0.982 3 284 319 37.5
40 5 0.004 0.020  86 251  1 747  426 888 0.975 2 849 736 33.0
45 5 0.006 0.031  84 504  2 597  416 027 0.962 2 422 848 28.7
50 5 0.009 0.046  81 907  3 746  400 170 0.943 2 006 821 24.5
55 5 0.014 0.068  78 161  5 313  377 523 0.914 1 606 651 20.6
60 5 0.022 0.106  72 848  7 730  344 915 0.870 1 229 128 16.9
65 5 0.034 0.157  65 118  10 242  299 984 0.807  884 213 13.6
70 5 0.053 0.235  54 876  12 914  242 093 0.722  584 229 10.6
75 5 0.080 0.333  41 961  13 979  174 859 0.594  342 137 8.2
80 5 0.141 0.516  27 982  14 436  103 819 0.438  167 278 6.0
85 5 0.205 0.656  13 546  8 890  45 503 0.316  63 459 4.7
90 5 0.274 0.764  4 656  3 559  14 380 0.221  17 956 3.9
95 5 0.347 0.843  1 096   925  3 171 0.113 d  3 575 3.3

100 ω 0.425 1.000   172   172   405   405 2.4
Mujeres/Females

0 1 0.045 0.044  100 000  4 374  96 453 0.951 b 6 905 752 69.1
1 4 0.004 0.015  95 626  1 409  378 851 0.989 c 6 809 300 71.2
5 5 0.001 0.005  94 217   491  469 855 0.996 6 430 449 68.3

10 5 0.001 0.004  93 726   332  467 797 0.996 5 960 593 63.6
15 5 0.001 0.005  93 393   494  465 732 0.994 5 492 796 58.8
20 5 0.001 0.007  92 900   611  462 970 0.993 5 027 064 54.1
25 5 0.002 0.008  92 288   738  459 597 0.991 4 564 095 49.5
30 5 0.002 0.009  91 550   861  455 598 0.989 4 104 498 44.8
35 5 0.002 0.012  90 689  1 076  450 756 0.986 3 648 900 40.2
40 5 0.003 0.016  89 613  1 395  444 581 0.981 3 198 144 35.7
45 5 0.005 0.022  88 219  1 977  436 150 0.972 2 753 563 31.2
50 5 0.007 0.034  86 241  2 893  423 974 0.959 2 317 413 26.9
55 5 0.010 0.049  83 348  4 101  406 490 0.938 1 893 439 22.7
60 5 0.016 0.075  79 248  5 957  381 346 0.904 1 486 949 18.8
65 5 0.025 0.119  73 291  8 729  344 631 0.850 1 105 603 15.1
70 5 0.041 0.186  64 562  12 014  292 775 0.768  760 972 11.8
75 5 0.067 0.288  52 548  15 149  224 868 0.639  468 197 8.9
80 5 0.121 0.463  37 399  17 308  143 727 0.482  243 329 6.5
85 5 0.188 0.622  20 091  12 496  69 218 0.345  99 602 5.0
90 5 0.258 0.743  7 596  5 640  23 878 0.239  30 385 4.0
95 5 0.334 0.831  1 956  1 626  5 714 0.122 d  6 507 3.3

100 ω 0.416 1.000   330   330   793   793 2.4

Fuente: Centro Latinoamericano y Caribeño de Demografía (CELADE)-División de Población de la CEPAL, revisión de 2017.
Source: Latin American and Caribbean Demographic Centre (CELADE)-Population Division of ECLAC, 2017 revision.
a	 Elaboración propia mediante la interpolación de las tablas de mortalidad implícitas en las estimaciones y proyecciones de población.
a	 Prepared by Latin American and Caribbean Demographic Centre (CELADE)-Population Division of ECLAC, on the basis of interpolation of life tables 

implicit in the population estimates and projections.
b	 P(b,5) = [L(0,1) + L(1,4)] / [5*l(0)].
c	 P(0-4) = L(5,5) / [L(0,1) + L(1,4)].
d	 P(95,ω) = T(100) / T(95).


